Rounding to the nearest 10 000
Round the numbers below to the nearest 10 000.

Example: 46 000 is between 40 000 and 50 000 and would be rounded to 50 000.



Don’t forget that you can write in the place value columns to help you! And you can draw a number line, like the one above, to help you if you need help visualising it.

a. 43 000 is between  
 and  
 and would be rounded to  

b. 57 000 is between  
 and  
 and would be rounded to  

c. 72 000 is between  
 and  
 and would be rounded to  

d. 85 000 is between  
 and  
 and would be rounded to  

e. 103 000 is between  
 and  
 and would be rounded to  

f. 146 000 is between  
 and  
 and would be rounded to  

g. 148 000 is between  
 and  
 and would be rounded to  

h. A company made a profit of £7,821,895 in one year.
What is this figure to the nearest £10 000?  


Self – Assessment:
Find this one too easy? Go to the homework post on the class blog and grab yourself a spicy challenge!

Rounding– spicy challenge
Round the numbers below to the nearest 100 000.

Example: 231 000 is between 200 000 and 300 000 and would be rounded to 200 000.



Round to the nearest 10:

384 987 is between  
 and  
 and would be rounded to  

162 695 is between  
 and  
 and would be rounded to  

Round to the nearest 100:

1 853 is between  
 and  
 and would be rounded to  

71 423 is between   
 and  
 and would be rounded to 

Round to the nearest 100 000:

2 815 234 is between   
 and  
 and would be rounded to  

7 235 902 is between   
 and  
 and would be rounded to  

The cost of decorating a school was estimated at £25,670.
What is this to the nearest £100?  


The school has £100 to spend on a school excursion.  Tickets to the zoo cost £12 per child.  How many children can the school afford to send? (Remember you can’t send part of a child!)
Answer: The school can send ………………………….. children.
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